SRETH—GA TGN I TSI —7341(QRMT G109, WRaa—s6) @ 590 64.000 & 77.420 @ Heg TR el 1

venfaa ez e widde fao g v Y gy wree srem s genfig 2, 919 2q 0.6680 20 ymifdg

WREd a9 W & A AT gaT v 9qrue 558 gal & FRaRYT & 9o afaqes Thawwr & fie FafE
el feddt a1 qfy ¥ <ryor =g &7 Gty

$0%0 a1 ®1 fagwoy gRIRT (%0 )
L a1 Hrf 147754.00
= JERIYe BT 153690.00
3 JERIYUT G IFREVT BRI 95820.00
4 qeRIuYr fgdia srreror o1 52835.00
i ERIYYT gt Rervr i 52835.00
v qERTYYT aqef SrReror Brf 52835.00
J JERIYYVT Y9 IRET S 52835.00
8 JERIYYT I&H JRETV R 14280.00
? JERIUY [ IFREV B 14279.00
10 GEIIRIUVT 375 REIV] 1y 14279.00
1 JERIYYT ¥ IFREAV b1 14279.00
. JETRIUYT TR SRETV] H1f 14279.00
12 Bl FT— 680000.00

S GV &73 Fewbl SIS & | AT AR F oll, W, Strersrad), g
3nfe gt &1 Rt fbar SR |

(’QH.Q%
guTiTT gt



ETSH—GAATYY I AR — 731 (GRET .99, €&A1-56) & fHflo 64.000 | 77.420 & #eg IrRA) ged
R gEIad e 99 yrgde fao gRT qfAwra 19 gy s stanr o= ywarfad 8, 99 29 0.6689 20
guTfad AR a9 4 @ AR 9 9T vd qee 558 4El @ AR @ 9ed afaqRe g fiever & fag
aafa o feadt a9 fy ¥ <Auvr 2q Afw [ar @l

qfA &1 9B HAR
ATB e 2.7900
TSl & T 5580
AT E3 B oIy 600
SRl b1 A 3 a1 st
%0 BRI BT fdavor FOT T e SERIE
0
4 |[deror vd YEieT ard ufdr g0 2.7900 52.24 145.75
T RIEU(R0VA0T Haxd DI AT RN PR BN
3 &g 27900 271.90 758.60
4 {TSE! B Ufdd g B EAEE 5580 0.33 1841.40
5 [GRET @IS B e Hia oo 600 0.47 282.00
TR A § AEF IR §RT TSel Ya s
6 |(fm & SR EN) Ry TeaT 5580 5.50 30690.00
SiEsE T g™ _
7 @ T 3 @ e P9 g Ry TegT 5580 8.00 44640.00
1 WIS Ga™ B 1.20 Ao HWI SIS 0.90
8 %Z el dlers 1.0 Mo TeE | v <o¥flo 600 - 7437 44622.00
9 [ STM W g9 (5 Ufcerq arfaika) ofer dier 5860 4.04 23674.40
10 [3NSIN Ud SUBRT TNET T I BRI gfd 20 1000 1100.00
. IRT 147754.15
AT 147754.00
(T1. e 1¥%)
IR ECE B GAR)



TS —GAAYR IS IS — 731 (4RHT TA.UA. &IT-56) B fb#lo 64.000 & 77.420 & =g
SRl yedl W} y¥drfad e 19 yigde fao gRT ffivra i ursy orge sren T gwafaa @, g
84 0.6689 €0 YHIfAT WRRM a7 fY & AX ar@) yAIT vd q1ud 558 gEl @ FEIRYT @ gl
AfR® gflavor & fay aafta wrd foad a1 gfy ¥ Auor orf

A @1 IPR HIR
gl B T 5580
ST BT A JETRIIUT B
&0 PRI BT fdaRor EEaE] AT = EENIE
o
| T P 5 gar fores, T R &I W
-l o sy wear | 5580 | 161 | 8983.80
2 @IS DI AT TAT & AAI H I gars B gfer #io 600 5.00 3000.00
3 [TT€QT B WMEN Bl WG BT I ufr Tser | 5580 2.00 11160.00
4 | &Y dTe] B WIa BT e gfar goHio 56 152.00 8481.60
5 |qeeen § O gar ey der 5748 0.87 5000.76
6 |UTET BT I Gelld gfcr diy 5748 0.34 1954.32
7 |NURIU e garE @ gRd RiEE gfer dry 5580 4.81 26839.80
g |FPRIS oIS T AfcenT RIS TSTS 2 dR EE S 11160 1.29 14396.40
o (Wt @ RfaE ard-3 IR gfcr der 16740 1.14 19083.60
10 |@ICTG a1 & Ha g AT gfer dier 5580 0.39 2176.20
11 [}RETT T W) ST STetd] 41T 1 el T, g 2.79 | 1000.00 2790.00
12 |geARIGUT &A1 B HHD W T Udh 234 201.00 47034.00
13 (3T YbI0] T ‘ ufcr 20 2.79 | 1000.00 2790.00
IR 153690.48
3{rdr 153690.00

(w%
PRIRIRECEI RN

v



S B faaRor JeTRIYOT SRETOT 1 (SFREToT Worw)
qrat @ e 5580
| oo $rd T faaxor SHIS HIEAT T« FRTRI(F0R 0)
R LR R i i R 558 11.39 6355.62
BT 10 gfrera)
2 [dg @1 daeR gR1 goe (3wl o) gfa oy 575 1.60 920.00
3 [l @1 R gers afcr aty 558 0.38 212.04
4 [dlg VT 7 ofTeRT 9T 9 qued Riars fcr e 558 5.63 3141.54
5 |diegt @ R 2 a” gfer gy 11160 1.19 13280.40
6 |FRIE —TeE 1 9) gfcr dig 5580 1.29 7198.20
7 [GRem AR gfc A feqw 312 201.00 62712.00
8 |3INIR Td SUBRY ARG 9 3T B 2000.00
AT 95819.80
14T 95820.00
FETRTIT JRerT $1 (IgREvT i)
1 |diet @ R 2 ar gfa oy 5580 1.19 13280.40
2 |FRIE —TeE 1 9R gfer die 5580 1.29 7198.20
3 [gRem AR gfcr A e 156 201.00 31356.00
4 |3INTR Td SYBRYT I G TG B 1000.00
T 52834.60
Jrerar 52835.00
JERTAVT JREVT ST (IReTT qei)
1 |diet @ R 2 ar gfer die 5580 1.19 13280.40
2 |FRIE —=1E 1 9R gfer e 5580 1.29 7198.20
3 |gReEm AR gfd A4a feaq 156 201.00 31356.00
4 |3ISTR T4 SUBRY IRET § 3T DY ‘ 1000.00
kil 52834.60
Jrerar 52835.00
JETRTIVT AIREVT HTI (I[RET0T aqef)
1 [dten B R 2 ar gfar dey 5580 1.19 13280.40
2 |FRIE —=rE 1 9 gfer drer 5580 1.29 7198.20
3 |gReT AR gfcr w199 feaw 156 201.00 31356.00
4 |3lNIR UG SUBRY ARRIT d T Bl 1000.00
AT 52834.60
Jrerar 52835.00
JERTYVT SRETOT &1 (SREOT GaH)
1 |die B R 2 aR g dier 5580 1.19 13280.40
2 PR =€ 1 9R gfer dier 5580 1.29 7198.20
3 [GRem AR gfcr A e 156 201.00 31356.00
4 [3STR UG SUBRYT WRATT 9 3G b1y 1000.00
AnT 52834.60
Jrerar 52835.00
((LRE T
PRI RCENREaN
ST T G

7




FERTIT RET0T HTY (JRET0T yew)

H0%0 &l BT fqazor SIS HIAT = TRIRI(®oH 0)
1 |diei @ RiErg 2 9R gfcr diey 5580 1.19 13280.40
2 [3NIR UG SUBRYT AT 9 37 B 1000.00

IR 14280.40
B 31y 14280.00
JERTAY] IREVT ST (SREToT ASTH)
1 [dier & R 2 9) gfar oty 5580 1.19 13280.40
2 |39TR Td SYBRY FREIT T 3T DIy 999.00
AR 14279.40
31dr1 14279.00
JERTIY JREVT ST (& e )
1 |digl @ R 2 aR gfer ey 5580 1.19 13280.40
2 [SlISTR Ud IUGRY WA T 3T D1y 999.00
AT 14279.40
31eqdr 14279.00
FEARTIVT SRET HRf (rRemT -19%)
1 |dii 9 RErg 2 R gfar diy 5580 1.19 13280.40
2 [Sl9TR Ud SUBRY RETT T 3T rg 999.00
ART 14279.40
RI G 14279.00
JERTIVT IREVT ST (RE0T 9r)
1 |diet @ RiEre 2 R gfer iy 5580 1.19 13280.40
2 [3ISIR UG SUBRY AT 9 3T BIG 999.00
IR 14279.40
31qdr 14279.00
. M E)
IR 1Ty

aﬁa"fa?m




